@ VT = —a
® /(-a)2=a
@ -a? <0 0122 V-a2 9] L2 gt}




A FTHANA V2 =1.414, V20 = 4472 4 o}, o} F 22

D V0.2 =0.1414 @ 200 = 44.72
@ +0.02 = 0.4472 @ /2000 = 447.2

@ V20000 = 141.4

A

29

B
0 V20 4472

2
V02 =\/—=——=—— =0.4472
© 0 100 10 10 0447

@ V200 =10V2=10x1.414 = 14.14

2 V2 1414
® V0.02 = T = 10_1—0_0.1414

@ V2000 = V20 x 102 = 10 V20 = 10 x 4.472 = 44.72
® V20000 = V2x 1002 = 100 V2 = 100 x 1.414 = 141.4




® 19 AFEE 1 Aol
® RBE 5 a o Hste] VaZ = a ot
® 1+ V2 & P47} ot

~&B

@ Vi=1
® 1 9 AlFEL +1 oJtt.
@ a>00°]H Va2 = q o]t}

Ore Rgtagolnz Reldolnt,

® V2 7} &£86HA] e BtASo|BR 14 V2 & 85}




24 919] 1 P o Q Aol AzlE P2 (2,
Qolrb1 2 BAzgelet)

C

-
s
7

A
L

4-3-2Q 0 1 A 3 4

B
) S
Pe6 7

D 6 @ 8 ® +10 @2«@ ®» 310

~&B )

DABCD 9] gl (2 AAHE dol) (43 vl 712l |l
)

15|

ofl

—_

ODABCD 9] Ho]+= 16 — 4 x 3=10

. OABCD 9] g He] Zoj= /10 o[},
AP =AB=AD=AQ = V10
ﬂPL2EE}\/_L—§~—iL¢°ﬂﬂ1%6}% olch

—xX1X

[\)

Qi 25t VI W
. PQ-(2+

g‘

ZFO
2l

)-(2-

ol

) =2+10

=

B

P(2+ V10)

-&sh= XJO]E}.Q@— V10)




5. V0.08=4v2 <Y uj, A& F3}oizt

=18
<
=]

—
o
o
—
o




@ V2

Ao, (x+y)(x-

ovi @ @23

y) o #2?

® 3v6

~&B

X+y=

«/§+«/§+\/_—«/§:2\/§:\/§

_ 3+ V2-(V3-V2) 2«/_

2
)

2

Ly -y) = VBx V2= ‘/_




i)
lle}
>
il
rl
ke
]
o
o
o
£
)

0 1 2

1.414 1.418 1.421

19 4.359 | 4.370 | 4.382

20 4.472 4.483 | 4.494

21 4,583 | 4,593 | 4.604

@® 1.861 @ 5.897 ® 1.428 @ 1.361 @1.459

~&B

/720 V20
V2 + 1002 V2t 100

1
= 14144+ — x4.472
* 100

= 1.414 + 0.04472
= 1.45872




8. VO0x S VIS T 7k BF AQG HES S AV A A x
£ Fofelel.

» =

> FHE: x=10

S8 \
V90x = V2x 32 x5 x x 7} 457} H#H

L x=2x%x5,2%x3%2x%x5,---O

V15 + x 7t 24447} == dH

15+ x = 16, 25, 36,49, 64, - - -

~ox=1,10,21,34,49,---©

Q, O°NA 7Hg 22 24 x+= 10 °Jth




O
BC =BPo|tt. = AP, Q 9 xFHEE 77 p, qa}%}llﬂ,erqA

Ag Foteter,

p=4-2v2
g=0+2V2=2y20]B&
p+q=4-2V2+2V2=40]c},




10.

O] 4 Oﬂ ° ,/ E E
2 07‘*} golrt. 7 o] ;
*2? —— 4 .
® v2-2 @«/5—1 ® V2
@ 2-+2 ® 3
Hol7t 2 o AR 9 3 H o] doj= V2

a=1++V2,b=1-2+2

a%bz‘/%(u V3 +1-2v9)
2- 2
Y
2v2 -2




Tl
stolzt.

<

o]

587

16 7

Sto] 2k a, boll

% (a, b) &) 7N

[}

10 ©]
&

S

of

ﬁo

o

D

Il

N

o &

0 I~ © — O 00
NN = o o N~

L V| I
S R S RS ISR

oE F G G GlF ofF oF o
T T T T T T T T
o4 of oF o oF o of o
— AN N <f 0o O b~ 0

| | | A | R
SIS TS BES TS TS RS T

11.




